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SOLUTION
1. (d) Time (le;) = 2 years (o"kZ), Rate (nj) =

4%
Compound Interest (pØo`f¼ C;kt) = Rs.
102
NOTE:

C I for 2 years = R  + R  + R×R
100

Where (tgk¡) R Rate of Interest (C;kt dh
nj)
Combined rate% of CI for 2 years
(2 o"kZ ds fy, % pØo`f¼ C;kt)

= 4 + 4 + 100
44 

 = 8.161 %

SI for two years
(2 o"kZ ds fy, % pØo`f¼ C;kt) = 2 × 4 = 8 %
According to the question (iz'ukuqlkj)]
S I for 2 years (2 o"kZ  dk lk/kj.k C;kt)

= 8
16.8

102
  = Rs 100

Hence, required simpale interest
(vHkh"; lk/kj.k C;kt) = Rs. 100
Alternate/oSdfYid fof/ :

Rate (nj) = 4% = 25
1

Principal (ewy/u) = (25)2 = 625 units

625

SI for 

D ifference between 
CI &  SI for years

25 25
Years 1/25 1

Years Ist

Years 

2. (d) Time (le;) = 3 years (le;)]
Rate (nj) %  =  10%
CI for 2 years (2 o"kZ pØo`f¼ C;kt)

= 10 + 10 + 100
1010 

 = 21%

CI for 3 years (3 o"kZ pØo`f¼ C;kt)

= 10 + 21 + 100
1021

 = 33.1%

SI for 3 years (3 o"kZ dk lk/kj.k C;kt)
= 3 × 10 = 30%
Difference in CI and SI (pØo`f¼ C;kt rFkk
lk/kj.k C;kt dk varj) = (33.1 - 30)% = 3.1%
according to the question (iz'ukuqlkj)] 3-
1% of sum = Rs. 31

1% of sum = Rs. 1.3
31

Sum = Rs. 1.3
31

 × 100 = Rs. 1000

Alternate/oSdfYid fof/ %

10%  = 10
1

Let Principal = (10)3 = 1000 units

1000

100 100

10 10

10

1

100

1
10

1
10

1
101

10

1
10

1
10

1
10

S I for 3 years (3 o"kZ dk lk/kj.k C;kt)
= 100 × 3 = 300 units
CI for 3 years (3 o"kZ dk pØo`f¼ C;kt)
= (100  3 × 10 × 3 + 1) =] 331 units
Difference (varj) = (331 - 300) = 31 units
According to the question (iz'ukuqlkj)]
31 units = Rs. 1
 1000 units = Rs. 1 × 1000 = Rs. 1000
Hence, Required sum (vHkh"; ;ksx) = Rs.
1000

3. (a) NOTE: In such type of questions to save
your valuable time follow the given below
method.
uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj
ldrs gSaA

Principal A m ount Tim e (years)

(2)1

45 years

1

1

15

(3)3

× 3
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Hence, required time (vHkh"V le;)
= 45 years
Alternate/oSdfYid fof/ %
(I) Let principal (ewY/u) = P ,
Amount (feJ/u) = 2P
Case (I): By using formula,

2P = P )i.....(..........
100
R

1
15











Case (II): let after n years it will become
8 times (ekuk fd n o"kZ ds ckn ;g 8 xquk tk;sxk)

)ii......(..........
100

r
1

n











From, equation (i)

2 = 
15

100
R

1 









Cubing both sides (nksuksa i{kksa dk ?ku djus
ij)

(2)3 = 
45

100
R

1 







    ....... (iii)

By using equation (ii) & (iii)
 Here n = 45 years
Alternate/oSdfYud fof/%

15 yrs

2 8P4P PP

15 yrs 15 yrs

NOTE : Amount will be same in the same
period of time (cjkcj le; esa jf'k Hkh cjkcj
gksxh)-

4. (d) Let the principal

(ekuk fd ewYk/u) = Rs. P ,
Time (le;) = 2 years
Amount (feJ/u) = Rs. 2.25 P ,
Let Rate (ekuk fd nkj) % = R%
By using formula,

2.25P = P 
2

100
R

1 









2

100
R

1
100
225





























100
R

1
10
15 2

10
15

100
R

  = 1

  10
5

100
R



Akterbate/oSdfYid fof/ %
Note: In such type of questions to save
your valueable time follow the given below
method.

225 1002 2

A m ount :

:

 Principal

Ist Year 15 10

+5 units

Rate % = 10
5

 × 100 = 50 %

5. (b) Note: For detailed solution of such type of
question, check the solution of previous
questions.
uksV% bl rjg ds iz'uksa dk foLr`r gy ns[kus ds fy,
fiNys iz'uksa ds gy dks ns[ksaA

1000 13313 3

A mount :

:

:

 Principal

Ist Year

3  Yearst

10

3000 3993

11

+1 units

Rate% = 10
1

 × 100 = 10%

6. (b) Principal = Rs. 10,000,
Time = 2 years
Rate % = 4%
When the interest is compounded half-
yearly, time (tc C;kt v/Zokf"kZd la;ksftr gksrk
gS) = 2 × 2 = 4

Rate (nj) = 
2
4

 % = 2%

By using formula,

Amount (feJ/u) = 10000 ×
4

100
2

1 









Amount = 10000 × 50
51

50
51

50
51

50
51



Amount = Rs. 108224.32
Compund interest = Amount - Principal
CI = Rs. (10824.32-10000) = 824.32
Alternate/oSdfYid fof/%
CI for 2 years (2 o"kZ dk pØo`f¼ C;kt)

= 2 + 2 + 100
22 

 = 4.04%

CI for 4 years (4 o"kZ dk pØo`f¼ C;kt)

= 4.04 + 4.04 + 100
04.404.4 

= 8.08 + 0.1632 = 824.32%
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According to the quetion (iz'ukuqlkj)]

CI = 10000 × 100
2432.8

 = 824.32

7. (c) Principal = Rs. 2,000,
Amount = Rs. 2420
Rate = 10%
by using formula,

 2420 =  

n

100
10

12000 









n

10
1

1
2000
2420











n

10
11

100
121











n2

10
11

10
11



















= n = 2 years
Hence, Required time (vHkh"V le;) = 2
years
Alternate/oSdfYid fof/%
Note: In such type of questions to save
your valuable time follow the given
below method.
uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj
ldrs gSaA

100 121

11

11

121

Principal

Principal

:

:
A m ount

A m ount

Ii  Yearrd

I  Yearst

Rate = 10 % = 1
10

10

10

100

2000 2420

Note: Now after 2nd year both the
principal and amount will be in the
same ratio.
uksV% vc 2 o"kZ ds ckn ewy/u rFkk feJ/u cjkcj
vuqikr esa gksxkA
Hence, required time (vHkh"kV le;) (t) =
2 years

8. (a) Case (I): SI for 1 years (1 o"kZ dk lk/kj.k
C;kt) = 6 + 6 = 12%
Case (II): CI Is compounded half yearly

(pØo`f¼ C;kt v/Zf"kZd la;ksftr gksrk gS).

Rate% = 
2

12
 = 6%

t = 1 × 2 = 2
Effective Rate% for 2 half years (2-5 o"kksZ

ds fy, izHkkoh nj) = 6 + 6 + 100
66 

 = 12.36%

According to the question (iz'ukuqlkj),
(12.36 - 12%) of sum = Rs. 36

1% of sum = 36.0
36

100% sum = 36.0
36

 × 100 = Rs. 10,000

9. (a) Principal (P) = Rs. 5,000,

t  
2
1

1  years = 
2
3

 years,

Rate% - 4% = 25
1

Case (I): When interst is compounded
annually (tc C;kt okf"kZd la;ksftr gksrk gS)

1
25

1
25

1
25

5000

200
2nd year CI

8

200

2nd year CI (2 o"kZ dk pØo`f¼ C;kt )
= (200 + 8) = Rs. 208
6 moths CI in 2nd year (6 eghus dk pØo`f¼
C;kt)

= 
12
208

× 6 = Rs. 104

Total interest (dqy C;kt) = Rs (200  +
104) = Rs. 304
Case (II): When interest is compounded
half yearly
(tc C;kt v/okf"kZd la;ksftr gksrk gS),

Rate % = 
2
4

 = 2%

Time = 
2
3

 × 2 = 3 years
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0.04

5000

100 100

2 2

2

100

2%
2%

2%
2%

2%

2%

2%

Tota compound interest
=  (100 × 3 + 6 +0.04)
=  Rs. 306.04
=  Rs. 306.4
Difference = Rs. (306.04 - 304)

 = Rs. 2.04
Alternate/oSdfYid fof/%
Case (I): When interest is calculated
yearly (tc C;kt okf"kZd la;ksftr gksrk gS).
Effective Rate (izHkkoh nj) % = 4 + 2 +

100
24 

 = 6.08%

Case (II): When interest is calculated
half-yearly (tc C;kt v/Zokf"kd la;ksftr gksrk
gS)

Rate (nj) % = 
2
4

 = 2%

Time = 
2
3

× 2 = 3 years

Effective Rate (izHkkoh nj) % = 6.1208%
Difference in Rates  (njksa dk varj) = (6.1208
- 6.08)% = 0.0408%
Required difference (vHkh"V varj)

= 100
0408.05000 

 = 2.06

10. (a) Principal = Rs. 2550,

Rate% = 4% = incipalPr25
tInstallmen26





Time = 2 years
Principal : Installment (I)

Ist year 25×26 : 26
IInd year 625 : 676
Note: Installment will be same in both
cases.
uksV% nksuksa fLFkfr;ksa esa fdLr cjkcj gksxhA

+
650

625

676

676

According to the quetion (iz'ukuqlkj),
1275 units = Rs. 2550

1 units = Rs. 1275
2550

676 units = Rs. 1275
2550

 × 675

                 = Rs.1352
11. (c) SI for = 2 years (2 o"kZ dk lk/kj.k C;kt)

= 5 + 5 = 10%
CI for 2 years (2 o"kZ dk pØo`f¼ C;kt)

= 5 + 5 + 100
55 

 = 10.25%

Difference (varj) = (10.25 - 10)%
0.25% of sum = Rs. 15

Sum = 25.0
15

 × 100 = 25
1000015 

Sum = Rs. 6000
Alternate/oSdfYid fof/ %
Note: In such type of questions always
remmember. The difference between CI and
SI for 2 years

varj = 
100
r2

% gksxkA

Difference = 
 
100
5 2

 = 0.25%

Hence Required sum = 25.0
15

 × 100

    = Rs. 6000

12. (d) 5% = 20
1

Let sum = (20)3 = 8000 units
Note: In this question time is 3 years
hence so for making calculation easier
we assumed sum 8000 units.
uksV% bl iz'u esa pwafd le; 3 o"kZ gS blfy, geus
viuh x.kuk dks vklku cukus ds fy, ;ksx ekuk gSA

8000

400 400

20 20

20

1

400

1
20

1
20

1
20

1
20

1
20

1
20

1
20

D ifference in 
CI and SI for 
3 year
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According tot eh question (iz'uklkj),
61 units = Rs. 36.60

8000 units = Rs. 61
800036.60 

Sum = Rs. 4800
Hence, Required sum = Rs. 4800
Alternater/oSdfYid fof/%
Note: In such type of question to save
your valuable time follow the given
below method.
uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh xgh fof/ dk iz;ksx dj
ldrs gSaA
Rate % = 5%
Effective Rate of CI for 3 years (3 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj)
= 15.7625%
Effective Rate of SI for 3 years (3 o"kZ ds
fy, lk/kj.k C;kt izHkkoh nj) = 5 × 3 = 15%
According to the question (iz'ukuqlkj),
(15,7625 - 15)% of sum = Rs. 36.60
0.7625% of sum = Rs. 36.6.

Sum = 7625.0
60.36

 × 100 = Rs. 4800

13. (b) Let Principal = P,
Rate = R%,
t = 4 years
 Amount = 2P,,

Case (I): 2P = P
4

100
R

1 









2 = 
4

100
R

1 







  ........... (i)

Case (II): Let after  t years it will be 8
times (ekuk fd t o"kZ ds ckn ;g 8 xquk gks tk;sxk)

8P = P
t

100
R

1 









(2)3 = 
t

100
R

1 







  ......... (ii)

By using equation (i) & equation (ii)

t12

100
R

1
100
R

1 


















By comparing both sides (nksuksa i{kksa dh
rqyuk djus ij),
t = 12 years
Alternate /oSdfYid fof/%
Note (I): In such type of quetions to

save your valuable time follow the given
below method.
uksaV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj
ldrs gSaA

Principal A m ount Tim e (years)

21

12 years

1

1 8 = 

4

(2 )3

× 3

Alternate (II)

4 yrs 4 yrs

2 8P4P PP

4 yrs

4 × 3 = 12 years
14. (b) Note: For detailded follow the previous

question solution.
uksV% foLr`r gy ds fy, fiNys gyksa dks ns[ksaA

Principal A m ount Tim e (years)

21

20 years

1

1

:
: 10

2 =42

× 2

Alternate:

10 yrs

2 4PP P

10 yrs

time = 2 × 10 = 20 years
Hence, Principal amount will be four
time it self in 20 years (bl izdkj ewy; u 20
o"kZ esa 4 xquk gks tk,xk)

15. (c) Principal A m ount Tim e (years)

2

18 years

1 6

2 =83

× 3

16. (a)
2400 2520

+120

A m ount (A )1 A m ount (A )2

Required Rate% = 2400
120

 × 100 = 5%

17. (c) Amount (A1) = Rs. 4500,
t1 = 2 years
Amount (A2) = Rs. 6750,
t2  = 4 years
Let the Rate% = R%
Principal = Rs. P
According to the question,
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Case (I): 4500 = P
2

100
R

1 







  ...... (i)

Case (II): 6750 = P
2

100
R

1 







 ...... (ii)

by dividing equation (ii), by equation (i)
(lehdj.k (ii) esa lehdj.k (i) ls Hkkx djus ij)

4500
6750

 = 
2

100
R

1 









2

100
R

1
2
3









  ......... (iii)

From equation (i) & (ii)

4500 = P × 
2
3

P = Rs. 3000
Alternate/oSdfYid fof/%
Note: In such type of questions to save
your valuable time follow the given
below method.
uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh xgh fof/ dks iz;ksx dj
ldrs gSaA
Let principal = Rs. P
According to the question,

3
2

×3
2

×

P 4500 6750

2 years2 years

A m ount (A )1 A m ount (A )2 A m ount (A )2

P × 
2
3

 = 4500, P = 3
24500 

Hence required principal = Rs. 3000

18. (d) 4% = 25
1

 = incipalPr25
Amount26





Principal
25

25

26

26

625 676

13521250

A mount

× 2 × 2

Hence, Required sum = Rs. 1250
19. (a) Principal (P) = Rs. 1000,

Amount (A)  = Rs. 1331,
    Rate%      = 20%
Let Required time = t years According

to the question,
Note: When interest compounded half-
yearly.
uksV% (tc C;kt v/Zokf"kZd la;ksftr gksrk gS)

Rate% = 
2
20

 = 10%

Time  = 2t  year
By using formula,

1331 = 1000 
t2

100
10

1 









t2

10
11

1000
1331











t23

10
11

10
11



















By equationg both sides (nksuks i{kksa dks cjkcj
djus ij),

2t = 3   t 
2
3

 years

t = 
2
1

1  years

20. (c) CI for 2 years (2 o"kZ dk pØo`f¼ C;kt)
= Rs. 101.50, Rate% = 3%
Effective Rate % of CI for 2 years
(2 o"kZ ds fy, pØo`f¼ C;kt dh izHkkoh nj)

= 3 + 3 + 100
33 

 = 6.09%

Effective Rate% of SI for 2 year
(2 o"kZ ds fy, lk/kj.k C;kt dh izHkkoh nj)
= 3 + 3 = 6%
According to the question (iz'ukuqlkj),

Simple interest = 09.6
50.101

× 6 = 100

21. (b) Rate% = 5%,
time = 3 years
Compound interest = Rs. 252.20 Effective
Rate% of CI for 3 years (3 o"kZ ds fy, pØòf¼
C;kt dh izHkkoh nj) = 5 × 3 = 15%

Required SI = 7625.15
20.252

×15 = 240

22. (c) CI for 2 years = Rs. 282.15
SI for 2 years = Rs. 270

SI for 1 year = 
2

270
 Rs. 135

Difference between CI and SI (pØòf¼ C;kt
rFkk lk/kj.k C;kt dk varj) = (282.15 - 270)
= Rs. 1215
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Required Rate% = 135
15.12

 × 100 = 9%

Note : Always remember for first years
CI and SI will be same.

23. (d) Note: For detailed solution check
earlier questions solution of same type.
uksV% foLr`r gy ds fy, igys ds iz'uksa ds gy dks
ns[ksaA
Rate % for 2 year CI

= 4+4+ 100
44 

 = 8.16%

Rate% for 2 years SI = 4 + 4 = 8%
Required difference = (8.16 - 8)% =
0.16%

Required difference = 2500 × 100
16

 = Rs. 4

Alternate/oSdfYid fof/%
For t = 2 years

CI - SI = P
2

100
R










= 2500
2

100
4










= Rs. 4
24. (d) Rate% = 10%

Time = 2 years
Rate % for 2 year Compound Interest

= 10 + 10 + 100
10�10 

 = 21%

Rate% for 2 years SI = 10 + 10 = 20%
Difference in Rate% = (21 - 20) = 1%
According to the question,
1% of sum = Rs. 65

Sum = 
1
65

× 100 = Rs. 6500

25. (c) Required difference = %
100
R 2

= 
100
42

% = 0.6%

According to the question,
0.16% of sum = Rs. 1

Sum = 16.0
1

 × 100  = Rs. 625

26. (c) Let the principal = P
According to the question,

26
26

×
26
26

×

P 650 676

2 years1st years

A mount (A )1 A mount (A )2 A mount (A )2

Note: In compound interest amount
increases in same ratio.
uksV% pØo`f¼ C;kt eas jkf'k cjkcj vuqikr esa c<+rh
gSA

P × 25
26

 = 650

P = 26
25650 

 = Rs. 625

Hence, required principal = Rs. 625
27. (a) Principal = Rs. 1000,

Amount = Rs. 1331
Rate = 10%
Let time = n year
By using formula,

Amount = Principal 
n

100
R

1 









1313 = 1000 
n

100
10

1 









1000
1331

 = 
n

10
11










n3

10
11

10
11



















n = 3 years
Hence, Required time = 3 years
Alternate/oSdfYid fof/%

Rate% = 10% = P10
A11





1000

Principal
(10)1 (11)1

1331

A m ount

× 100 = (10)2 × 121 = (11)2

Total time = (1 + 2) = 3 years

28. (c) 4% = 25
1

 = 
incipalPr25

Amount26




Time = 2 years

Principal
25

25

625 676

26

26

A mount

×0.4

250 270.40

Hence Required principal = Rs. 250
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29. (c) Principal = Rs. 2304,
Amount = Rs. 2500
Time = 2 years,
Let Rate% = R%
By using formula,

2500 = 3204
2

100
R

1 









2

100
R

1
2304
2500











2

100
R

1
576
625











22

100
R

1
24
25



















By takeing square root of both sides,

100
R

1
24
25



24
25

100
R

 -1

  R = %
6
25

24
100



Rate = %
6
1

4

Alternate/oSdfYid fof/%

576 6252 2

A mount :

:

:

 Principal

for Ist Year

For Iind year

24

2304 2500

25

+1

Required Rate% = 
24
1

 × 100

          = %
6
1

4
6
25



30. (b) Rate% = 12 .iPr8
.Amt9

8
1

%
2
1






Principal A m ount
8
8

+17 units

9
9

64 81

Accoridng to the question,
17 units = Rs. 510
64 units = Rs. 30×64 = Rs. 1920

Henece principal = Rs. 1920
SI for 2 years (2 o"kZ dk lk/kj.k C;kt)

= %252
2
1

12 

Required SI = 100
251920 

 = Rs. 480

hence, Required SI = Rs. 480
Alternate/oSdfYid fof/%
Note: In such type of question to save
your valuable time follow the given
below method.
uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj
ldrs gSaA
Let principal = (8)2 = 64 units

64

88

1

Principal

IInd year
Ist year

CI for 2 years = (8+8+1) = 17 units
SI for 2 years = (8+8) = 16 units
According to the question,
17 units = Rs. 510

1 unit = Rs. 
17
510

 = Rs. 30

16 units = Rs. 30×16 - Rs. 480
31. (c) Difference In CI and SI for 2 years (2

o"kksZ dk pØo`f¼ C;kt rFkk lk/kj.k C;kt dk varj)
= (40.80 - 40) = Rs. 0.80

SI for first year = 
2
40

 = Rs. 20

Required Rate% = 20
80.0

× 100 = 4%

32. (a) Rate% = 5%
Time = 2 years
SI for 2 years = 5×2 = 10%
CI for 2 years = 10.25%
According to the question,

Required SI = 25.10
328

 × 10 = Rs. 320

33. (c) Note: In such type of questions use
given beblow formula, when 2 yuears
CI and SI difference is given.
uksV% bl izdkj ds iz'uksa esa uhps nh x;h fof/ dk
iz;ksx djsa] tc 2 o"kksZ dk pØòf¼ C;kt rFkk lk/kj.k
C;kt dk varj  fn;k x;k gksA



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 120 ]

THATHAGAT

IN
STITUTE

Principal =
Difference × 100 2

R2

Where = R = Rate%
Principal = R. 1000,
Time = 2 years,
Difference = Rs. 10
Put the value in formula,

1000 = 
2

2

R

10010 

1000 = 
2R

100000  = R = 10%

Alternate/oSdfYi fof/%
Note: (be bl izdkj ds iz'uksa dk gy fodYiksa dk
iz;ksx djds Hkh dj ldr gSa)
Option (C): Rate % = 10%
SI for 2 years = 10×2 = 20%

CI for 2 years = 10 + 10 + 100
1010 

Difference in Rates = (21 - 20) = 1%

Required difference = 1000 ×100
1

 = Rs. 10

Hence, The difference between CI and
SI is same as mentioned in question.
Hence option (C) is correct.
(iz'u ds vuqlkj pØo`f¼ C;kt rfkk lk/kj.k C;kt
dk varj cjkcj gS] blfy, fodYi (c) lgh gSA)

34. (d) Required sum = 16.0
8

 × 100 = Rs 5000

35. (a) Let principal = 1 unit
 Amount = 1 × 8 = 8 units
According to the question,

1 83 3

Principal :

:

:

A m ount

for 1st Year

for 3  Yearrd

1

1 8

2

+1

Required rate % = 
1
1

×100 = 100%

36. (b) Let Rate% = R%
Let Principal = Rs. P
According to the quetion,

P Rs. 9680 Rs. 10648

2 years
1 years2 years

3 years

Principal A m ount (A )1 A m ount (A )2

Required Rate%

= 
 

9680
968010648 

 × 100 = 10%

37. (b) Rate% = 4%
Time = 2 years
Difference between CI and SI = Rs. 10

Difference = 
 

%16.0
100
4

100
R 22



0.16% of sum = Rs. 800

Sum = 16.0
800

 × 100 = Rs. 5,00,000

38. (b) Rate% = 4%,
Time = 2 years
Difference between CI and SI = Rs. 10

Difference = 
 
100
4

100
R 22

  = 0.16%

0.16% of sum = Rs. 10

Sum = 16.0
10

 × 100 = Rs. 6225

hence required sum = Rs. 2500

39. (a) Difference = 
 
100
4

100
R 22

  = 0.16%

According to the question,
0.16% of sum = Rs. 4

Sum = 16.0
4

×100 = Rs. 2500

40. (b) Note: For detailed solution of such type
of question follow the solution of
previous question,
(bl izdkj ds iz'uksa ds foLr`r gy ds fy, fiNys
iz'uksa ds gyksa dks ns[ksaA)
Let Principal = 1 unit

Principal A m ount Tim e (years)

(2)1

45 years

1Case (I )

Case (II ) 1

15

(2)3

× 3

Hence required time = 44 years
41. (c) Principal = Rs. 16000,

Rate % = 20%
Time = 9 months
When interest is being compounded
quaterly (tc C;kt frekgh la;ksftr gksrk gS),

Time = 
12
9

 × 4 = 3

Rate = %
4
20

 = 5%  = 20
1
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Principal

20
20
20

8000

21

+1261

21
21

9261

A mount 

According to the question,
8000 units = Rs. 16000
      1 units = Rs. 2

        1261 units = Rs. 2 × 1261
  = Rs. 2522

42. (c) R1 = 4%, R2 = 5%, R3 = 6%

4% = 25
1

, 5% = 20
1

, 6% = 50
3

Principal

25
20
50

25000

26

+3938

21
53

28938

A mount 

Accoriding to the question,
25000 units = 10,000
3938 units = 0.4 × 3938 = Rs. 1575.20

43. (b) Time (t) = 2 years,
Rate% = 4%
Effective Rate of CI for 2 years (2 o"kZ ds
fy, pØo`f¼ C;kt dh nj)

= 4 + 4 + 100
44 

 = 8.16%

Effective Rate of SI for 2 years (2 O"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj) = 8%
According to the question,
8.16% of sum = Rs.. 2448

1% of sum = Rs. 16.8
2448

8% os sum = 16.8
2448

 × 8 = Rs. 2400

44. (a) Time = 3 years, Rate = 5%
Difference between CI & SI = Rs. 15.25
Effective Rate% CI in 3 years = 15.7625%
Effective Rate% SI in 3 years = 5×3 = 15%
According to the question,
(15.7625 - 15%) of sum = Rs. 15.25

Sum = 7625.0
25.15

 × 100 = Rs. 2000

Alternate/oSdfYid fof/%

Rate% = 5% = 20
1

Let total principal = (20)3 = 8000 units

8000

400 400

20 20

20

1

400

1
20

1
20

1
20

1
20

1
20

1
20

1
20

Difference in 
CI and SI for 
3 year

According to the question,
61 units = Rs. 15.25

8000 units = 61
800025.15 

 = Rs. 2000

Hence Required sum = Rs. 2000
45. (c) Rate% = 8% Time = 2 years

Effective Rate% of CI for 2 years (2 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj)

= 8 + 8 + 100
88 

 = 16.64%

Effective Rate% of SI for 2 years (2 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj) = 8 + 8 = 16%
Difference in Rate (njksa ck varj )
= (16.64 - 16) = 0.64%
According to the question,
0.64% of sum Rs. 768

Sum = 64.0
768

 × 100 Rs. 1,20,000

Alternate/oSdfYid fof/%

Rate = 8% = 25
2

100
8



Let sum = (25)2 = 625 units

2
25

2
25

2
25

625

850

4 Difference between 
CI and SI

according to the question,
4 units = Rs. 768
1 units = Rs. 192
625 units = Rs. 192 × 625

= Rs. 120,000
46. (b) Principal (P1) = Rs. 6000.

Rate% = Rs. 768
t = 2 years
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Simple Interest = 100
256000 

 = Rs. 600

Principal (P1) = Rs. 5000,
Rate% = 8%, t = 2 years
2 years effectiver Rate for CI

= 8 + 8 + 100
88 

 = 16.64%

compound interst  =  5000 × 100
64.16

              = Rs. 832
Difference = Rs. (832 - 600) = Rs. 232

47. (a) 4% = 25
1

, 3%  = 100
3

Principal
First year

A m ount

25
100

+178

103
26

2500 2678

According to the question,
2500 units = Rs. 2000

1 units = Rs. 2500
2000

178 units = Rs. 2500
2000

 × 178

= Rs. 142.40
Alternate/oSdfYid fof/%
Principal = 2 years
Ist year Rate% = 4%
IInd year Rate% = 3%
Total CI = (80 + 64 +2.4) = Rs. 142.40

48. (a) Principal = Rs. 32000
CI = Rs. 5040
Amount = (32000 + 5044) = Rs. 37044
Time = 9 moht, Let Rate = R%
Interest is being compounded quarterly
(C;kt frekgh la;ksftr gksrk gS)

Time = 
12

49
 = 3

Rate% = 4 R%
According to the question,

Principal

3rd year

Ist year

A mount

32000
8000

20
+178

9261

21

37044

8000 92613 3

Required Rate% = 20
1

 × 100 = 5%

New Rate% = 4R% = 4 × 5 = 20%
49. (c) Principal = Rs. 8000,

Rate = 15%
Time = 2 years 4 months

8000

1200 1200

180 180

180

1200

15%
15%

15%

IIIrd year
Ist year

15%

15%
27

15%
15%

12 months CI for 3rd year
= (1200 + 180 × 2 + 27)
= (1200 + 360 + 27)
12 months CI for 3rd year = 1587

= 
12

1587
 × 4 = 529

Total CI = (1200 × 2 + 180 + 529) = Rs.
3109

50. (c) Time = 2 years, Rate = 10%
Case (I): When interest compounded
annually (tc C;kt okf"kZd la;ksftr gksrk gS)

2 years CI Rate% = 10 + 10 + 100
1010 

            = 21%
2 years SI Rate% = 10 + 10 = 20%
According to the question,
(21 - 20)% of sum = Rs. 28

sum = 
1
29

 × 100 = Rs. 2800

Case (II): When interest is compounded
half-yearly (tc C;kt v/Zokf"kZd la;ksftr gksrk
gS).

Rate% = 
2

10
 = 5%

Time = 2 × 2 = 4
Effective Rate% of CI for 2 half yearly
(2 Nekgh ds fy, pØo`f¼ C;kt dh izHkkoh nj)

= 5 + 5 + 100
55 

 = 10.25%

Effective Rate % of CI for 2 half yearly
(4 Nekgh ds fy, pØo`f¼ C;kt dh izHkkoh nj)
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= 10.25 + 10.25 + 100
25.1025.10 

= 20.25 + 1.050625 = 21.55%
Effective Rate% of SI for 4 years (4 o"kZ
ds fy, lk/kj.k C;kt dh izHkkoh nj)
= 5 × 4 = 20%
Difference in Rate%  =  (21.55 - 20)

                  = 1.55%
Required Difference = Rs. 43.4

51. (c) Rate% = 20
1

, Time = 3 years

Let principal = (20)3 = 8000 units

8000

400
400

20
20

20

40 0

2nd  year

3rd  yuear

1

1
20 1

20
1
20

1
20

1
20

1
20

1
20

Difference of interest for 3 years and 2
years (3 o"kZ ds fy, C;kt rFkk 2 o"kZ ds C;kt esa
varj) (400 + 20 +20 + 1) = 441
According to the question, 8000 units
= Rs. 6000

1 unit = Rs. 8000
6000

441 units = Rs. 8000
6000

 × 441 = Rs.

330.75
52. (a) Rate % = 10% Time = 2 years

Effective Rate% of CI for 2 years

= 10 + 10 + 100
1010 

 = 21%

Effective Rate of SI for 2 years
= 10 + 10 = 20%
Difference in Rate% = (21 - 20)% = 1%
Accoridng to the question,
1% of sum = Rs. 40

Sum = Rs. 
1
40

 × 100 = Rs. 4000

53. (a) Amount (A1) =  Rs. 4840
Amount (A2) = Rs. 5324
Let the principal = Rs. P

P 4840 5324

2 years
2 years2 years

Required Rate%

Principal A m ount (A )1 A mount (A )2

= 
 

4840
48405324 

 × 100 = 10%

54. (b) Time = 2 years,
Rate% = 4%

= 
Amount25

tinstallmen26
25
1






Amount
Installment
Ist year  25×26 : 26
IInd year  625 : 676
Note: Installment is same in both
cases. Hence equal the installment.
nksukas fLFkfr;ksa ds fdLr cjkcj gksxk] blfy, fdLr dks
cjkcj djsaA
Hence after that new ratio,

A m ount Installment

650Ist year

II Ind year

676

676625
1275

According to the question,
676 unit  =  Rs. 16224
    1 unit  =  24
1275 units = 24 × 1275 = Rs. 30600
Total amount = Rs. (30600 + 16224)

55. (c) Rate (R1) = 4% t1 = 1 year
Case (I): Rate (%) = 4%
Case (II): When interest is compounded
half-yearly (tc C; kt
v/Zokf"kZd la;ksftr gksrk gS)

New Rate% = 
2
6

 = 3%

Time (t2) = 1 × 2 = 2 years
Effective Rate% for 2 years (2 o"kZ ds fy,

izHkkoh nj) = 3 + 3 + 100
33 

 = 6.09%

Differeence in Rates  =  (6.09 - 4)%
    = 2.09%

According to the question,
2.09% of sum = Rs. 104.50

Sum  =  Rs. 09.2
50.104

 100 = Rs. 5000

56. (d) Compound interst = Rs. 1261,

Time = 3 years, Rate % = 5% = 20
1

20

20

8000

21

21

9261

1261

Principal A m ount

20 21

According to the question, 1261 units
= Rs. 1261
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1 unit = Rs. 1261
1261

 = Rs. 1

8000 units = 8000 × 1 = Rs. 8000
57. (c) Rate% = 4% time (t1) = 1 year

Amount = Rs. 7803
When interest is compounded half
yearly (tc C;kt v/Zokf"kZd la;ksftr gksrk gS).

New Rate% = 
2
4

 = 2%

Time = 1 × 2 = 2 years
Required Rate% for 2 years CI

= 2 + 2 + 100
22 

 = 4.04%

According to the question,
(100 + 4.04)% of sum = Rs. 7803]

Sum = 04.104
7803

 × 100 = Rs. 7500

Alternate/oSdfYid fof/%
time = 2 years,

Rate % = 
2
4

 = 2% = 50
1

50 51

Principal A m ount

50 51

2500 2601

+101 units

According to the question,
2601 units = Rs. 7803

1 units = Rs. 2601
7803

 = Rs. 3

2500 units = Rs. 3 × 2500 = Rs. 7500
 Hence sum = Rs. 7500

58. (a) Rate 8% =  = 8
4
3

% = 80
7

 = 25
2

27

625

5000

27

729

5832

Principal A m ount

25 27

×8

Hence Required Sum = Rs. 5000
59. (c) P = Rs. 6000, Rate% = 10%,

Time (t1) = 
2
1

1  years

600

10% 10%

2nd year

10% 60

2nd year CI = 660
6 months 2nd year CI = 330
Total CI = (600 + 330) = 930

60. (c) SI for 1 year = Rs. 260
SI for 2 year = 26 ×2 = Rs. 520
Difference in (CI - SI)
(540.80 - 520) = Rs. 20.8

Required Rate% = 260
8.20

 × 100 = 8%

61. (d) Rate% = 4%, Time (t1) = 2 years
SI for 2 years = 4 × 2 = 8%

CI for 2 years = 4 + 4 + 100
44 

= 8.16%

Required Rate% = 8
80

 × 8.16  = Rs. 81.6

62. (d) Effective Rate% of CI for 2 years (2 o"kksZ
ds fy, pØo`f¼ C;kt dh izHkkoh nj)

= 5 + 5 + 100
55 

 = 10.25%

Effective Rate of SI for 3 years (2 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj) = 6 × 3 = 18%
According to the question,

Required SI = 25.10
246

 × 18 = Rs. 432

63. (d) SI for 2 years = Rs. 900

SI for 1 years = 
2

900
= Rs. 450

CI for 1 years = Rs. 950
Difference between CI for SI
= (954 - 900) = Rs. 54

Required Rate% = 450
54

 × 100 = 12%

required sum = 
12
450

 × 100 = Rs. 3750

64. (a) Rate% = 5%, Time = 3 years
Let principal = (20)3 = 8000 units

According to the quesion,
(20 + 20 + 20 + 1) units = Rs. 122
61 units = Rs. 2
1 imots = Rs. 2 × 8000 = Rs. 16000
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 Hence Required sum = Rs. 16000
65. (d) Amount After three years (3 o"kZ ds ckn

feJ/u) = Rs. 2662
Amount After three years (2 o"kZ ds ckn
feJ/u) = Rs. 2420
  Net interest earned in the IIIrd years
(rhljs o"kZ izkIr C;kt) =  2662 - 2420

            =  Rs. 242
   Rate of interst (r)

= 2420
242

 × 100 = 10%

( nwljs o"kZ dk feJ/u rhljs o"kZ dk ewy/u gS )

66. (c) Rate of interest r = 
2
1

12 % = 8
1

Year Principal Installment
9 ......... (i)× 9  8 × 9

64 81 ........ (ii)

I

II

Since, Installment is equal hence
multiply equation (i) by 9 (pwafd fdLr cjkcj
gS blfy, lehdj.k (i) dks 9 ls xq.kk dj nsa)
 Total principal = 72 + 64 = 136 units
136 unit   6800
1 unit   50
81 units   4550
  Each installment (izR;sd fdLr) = Rs.
4050

67. (b) Rate of interst (r)

= 
4
3

8 % = 
80
7 Installment87

80  Principal

  I 80×87
 87×87

 ....... (i)
  II 6400  7569 ....... (ii)
Since, installment is equal hence
multiply equation (i)  (pwafd fdLr cjkcj gS
blfy, clehdj.k (i)dks 87 ls xq.kk dj nsa)
  Total principal = 6960 + 6400 =
13360
  13360 units = Rs. 133620
  7569 units = Rs. 1
  7569 units = 7569
 Each installment = 7569

68. (b) 5% = 20
1

 = 
Installm ent21

20  Principal

Installment Principal

20× 21

400 441 ......... (ii)

21 ........ (i)×21 

Year

I

II

Since installment is equal hence
multiply equation (i) by 21 (pwafd fdLr
cjkcj gS blfy, lehdj.k (i) dks 21 ls xq.k dj nsa)

  Total principal = 420 + 400 = 820 units
  820 unis   Rs. 12300
  1 unit   Rs. 15
  441 units   Rs. 6615

  Each installment (izR;sd fdLr)
= Rs. 6615

69. (a) In these type of questions go through
options to save your valuable time. (bl
izdkj ds iz'uksa vius cgqewY; le; dh cpr ds fy,
fodYiksa dk lgkjk ysa)
Option (a)   Rate of interest = 5%

 Amount = Principal 
n

100
rate

1 









  1102.5 = 1000 
2

100
5

1 









  1000
5.1102

 = 400
441

  1.1025 = 1.1025
  L. H. S = R. H. S
Option (a) is correct.

70. (a) Effective rate for half year (6 ekg ds fy,

izHkkoh nj) = 
2

10
 = 5%

Time = 2n years

  936.10 = 800 
n2

100
5

1 









  
n2

20
21

800
10.926











  
n23

20
21

20
21



















  2n  =  3   n = 
2
3

  Required time = 
2
1

1
2
3
  years

71. (d) Amount = 6000
2

100
5

1 









  Amount = 6000 × 20
21

20
21



  Amount = Rs. 6615
72. (d) Year Principal Amount

5 1 2
10 2 4
15 4 8
20 8 16
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  Amount After 20 years = 16 × 12000
                     = Rs. 1,92,000

73. (a) Principal Amount
1 4

  4 = 1
2

100
r

1 









  4 = 
2

100
r

1 









  r = 100%
Alternate/oSdfYid fof/%
Principal Amount

21 2 4
  1  2

  Rate of interst = 
 

1
12 

 × 100

74. (b) Year Principal Amount
3 1 2
6 2 4
  The amount becomes four times in
6 years (jkf'k 6 o"kZ esa 4 xquk gks tk,xh)
Alternate/oSdfYid fof/%

3 Years

×2 ×2

3 Years

421

  The amount becomes four times in
(jkf'k 6 o"kZ esa 4 xquk gks tk,xh 3 + 3 = 6 years)

75. (b) Rate of interst = 20% = 5
1

Let Principal = (5)2 = 25
 1 unit   Rs. 48
  Principal = 48 × 25 = Rs. 1200

76. (a) For 2 years

2

100
r

P
D











Where D = Difference between CI & SI
(pØo`f¼ C;kt rfkk lk/kj.k C;kt esa varj)
P = Principal
R = Rate of interest


10000

r
10000

25 2



  r2 = 25   r = 5%

77. (b) Rate of interest = 5% = 20
1

Let principal = (20)2 = 400

20

5%
II

I

10% 1

  1 unit   Rs. 6
  400 units   Rs. 2400
  Principal = Rs. 2400

78. (c) When the money is compounded half
yearly the effective rete of interest for 6
months (tc jkf'k v/Zokf"kZd la;ksftr gksrh gS] rks
6 ekg ds fy, izHkkoh C;kt nj)

= 
2

16
 = 8%  = 25

2

Let principal = (25)2 = 625

50

8% 8%
II

I
8%

4

  4 units   56
  1 units   14
  Principal = 14 × 625  = Rs. 8750

79. (b) Rate% 10%, time = 1 year
Case (I): When interest is calculate
yearly, Rate% = 10%
Case (II): When interest is calculated
half yearly.

  New Rate% = 
2

10
 = 5%,

Time = 1 × 2 = 2 years

  Effective Rate% = 5 + 5 + 100
55 

= 10.25%
Difference in Rates = (10.25 - 10%)

= 0.25%
According to the question,
0.25% of sum = Rs. 180

Sum = 25.0
180

 × 100 = Rs. 72,000

80. (b) Principal = Rs. 5000, Time = 2 years
Let Rate = R%
Difference between CI and SI (pØòf¼ C;kt
rFkk lk/kj.k C;kt esa varj) = Rs. 32 by using
formula,
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Principal = 2

2

R

100Difference 

5000 = 2

2

R

10032 

R2 = 5000
1000032 

 = 64

R = 8%
Hence Required Rate% = 8%

81. (b) Let principal = P,
Case (I): Time = 3 years,
Amount = 8P

8P = P
3

100
R

1 









(2)3 = 
3

100
R

1 









Takeing cube root of both sides (nksuks i{kksa
dk ?kuewy ysus ij),

2 = 









100
R

1

  R = 100%
Case (II): Let after t years it will be 16
times (ekuk fd t o"kksZ ds ckn ;g 16 xquk gks tk,xh)

16 P = P 
t

100
R

1 









16 = (2)t

(2)4 = (2)t

t = 4 yuears
Hence Required time (t) = 4 years
Alternate/oSdfYid fof/%
Note : In such type of questions to save
your valuable time follow the given
below method.
uksV% bl izdkj ds iz'uksa esa vius cgqewY; le; ds
cpr ds fy, vki uhps nh x;h fof/ dk iz;ksx dj
ldrs gSaA

Principal

1

1

8 = 23

16 = 24

3

4 = 4 years

A m ount Tim e (years)

3
3

×

82. (c)
2 4PPP

4 yrs4 yrs

= 2 × 4 = 8 years
83. (c) Principal = Rs. 30,000

CI = Rs. 4347,
Rate% = 7%

By using fromula,

  (30,000 + 4347) = 30,000
t

100
7

1 









34347 = 30,000 
t

100
7

1 









  
t

100
107

000,30
34347











  
t

100
107

10000
11449



















  
t2

100
107

100
107



















  t = 2 years
84. (d) Principal = Rs. 8000,

Amount  = Rs. 8820
Let Rate% = R1

Time = 2 years
By using formula,

8820 = 8000
2

100
R

1 









2

100
R

1
8000
8820











2

100
R

1
400
441











Takeing square root of both sides (nksuksa
i{kksa dk oxZewy yssus ij),











100
R

1
20
21

R = 5%
85. (b) P = Rs. 10,000,

t = 2 years
R1 = 10%, R2 = 12%

1000

10% 12%
2nd year

Ist year

12%

120

Amount = Principal + CI
Amount = 10,000 + (1000 + 1200 + 120)
= Rs. 12320

86. (d) Time = 2 years, Rate % = 10%
Effective Rate% of CI for 2 year (2 o"kZ ds
fy, lk/kj.k C;kt dks izHkkoh nj)
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= 10 + 10 + 100
1010 

Effective Rate% of SI for 2 years (2 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj)
= 2 × 10 = 20%

Required SI = 
21

420
 × 20 = Rs. 400

87. (c) Principal

1

1

3  = 31

9 = 32

3

6 years

× 2

A m ount Tim e (years)

Hence Required time = 6 years
88. (c) Let the principal = Rs. P and the Rate

of interest = R%

P

Difference = Rs. 96

1 years4 years

Rs. 3840 (A )1 Rs. 3936 (A )2

Required Rate% = 3840
96

 × 100 = 2.5%

89. (d) Let Principal = Rs. P

Difference = Rs. 288

1 years2 years

Rs. 1440 (A )1 Rs. 1728 (A )2

90. (d) Required Rate%

= 
 

225
22550.238 

 × 100 = 6%

91. (c) Princepal = Rs. 5000,
Rate% = 10%
Time = 2 years

SI for 2 years = 100
1025000 

 = Rs. 1000

Note: When interest is compounded
semi annually.
uksV% tc c;kt v/Zokf"kZd la;ksftr gksrk gSA

New Rate% = 
2

10
 = 5%

Time = 2 × 2 = 4 years
Effective Rate% of for 4 years (4 o"kZ ds
fy, izHkkoh nj) = 21.55%

Required CI = 100
55.215000 

 Require amt. = Rs. (1077.53 - 1000)
          = Rs. 77.53

92. (d) Principal = Rs. 2000,

Rate % = 5% = 20
1

time = 3 yers

Principal A m ount

20
20
20

8000 9261

21
21
21

Accoridn to the question,
8000 units = Rs. 2000

1 unit = Rs. 8000
2000

9261 units  =  Rs. 8000
2000

 × 9261

                   = Rs. 2315.25
93. (a) Let the time = t years,

Rate% = 10%
Note: When interest is calculated semi-
annually.
uksV% tc C;kt v/Zof"kZd la;ksftr gksrk gSA

] New time = 2t years

Rate % = 
2

10
 = 5%

By ysing formula,

92610 = 80,000 
t2

100
5

1 









8000
9261

 = 
t2

20
21










Comparing both sides,

2t = 3   t = 
2
3

 years = 1
2
1

 years

94. (b) Principal = Rs. 21000,

Rate = 10% = 1
10

11
10

Installment
Principal

Principal Installment
10×11 11×11

100 121
Note: Installment  will be equal in both
cases. So equate the installment.

According to the question,

210 units = Rs. 210
21000

 = Rs. 100

121 units = 121 × 100 = Rs. 12100
Alternate/oSdfYid fof/%

Rate   10% = 10
1

Each Installment of 2 years (2 o"kZ dh
izR;sd fdLr)
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  
 

11
1110

11
10 

 × installment = P.A.A

                               =  21000
Each Installment  =  12100
METHOD
R = 10%

= 
1

10
   

10
(10 +1)    

a10
b11

Installment for 2 year

= 
a
b

 × 
(a + b)

b
× installment = P.A.A

Note: Each installment for three years
(3 o"kZ dh izR;sd fdLr)

= 3

a
b

 (a2 + ab + b2) × Installment = P.A.

95. (b) Principal = Rs 5000

Time = 3 years, Rate% = 10% = 
1

10

Principal           Amount
10
10
10

1000

11
11
11

1331

331 units

1000 units = Rs 5000
1 unit = Rs 5
331 units = 331 × 5 = Rs 1655

96. (a) Rate% = 10%
Let time = t years
Principal = Rs 3200
Amout = Rs 3362
Note: When interest is calculated
quaterly.
uksV% tc C;kt frekgh la;ksftr gksrk gSA

New Rate% = 
10
4

 = 2.5%

Time = 4t years
By using formula,

3362 = 3200 
4t2.5

1+
100

 
  

3362
3600

 = 
4t41

40
 
  

  
1681
1600

 
241

40
 
  

  
241

40
 
    = 

4t41
40
 
  

On coming both sides (nksuksa i{kksa dh rqyuk
djus ij)]

4t = 2  t =
1
2

 years

97. (a) Rate% = 12%
Time = 2 years
Effective Rate% of CI for 2 years (2 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj)

12 + 12 +
12 ×12

100
 = 25.44%

Effective Rate% of SI for 2 years (2 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj)
= 12 × 2 = 24%
According to the question,

Required SI = 
2544
25.44

×24 = Rs 2400

Required sum = Rs 2400
98. (b) Amount = Rs 2916

Time = 2 years,
Rate% = 8%
Effective Rate% of CI for 2 years (2 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj)

= 8 + 8 + 
8 × 8
100

 = 16.64%

Required Sum = 
2916

(100 +16.64)  × 100

Required  simple interest

= 
2500 × 9 × 3

100
 = Rs 675

99. (a) SI for 3 years = Rs 3000

SI of 2 years = Rs 
3000

3
 × 2 = Rs 2000

SI for 1 year = Rs 1000
CI for 2 years = Rs 2050
Required difference = (2050 – 2000)
Rs = 50

Required Rate% = 
50

1000
 × 100 = 5%

According to the question,
5% of Sum = 1000

Sum = 
1000

5
 × 100 = Rs 20,000

100.(a) Required difference Rate%

= 
2R

100
 = 

2(5)
100

 = 0.25%

Required sum = 
1.50
0.25

× 100 = Rs 600

101.(c) Effective Rat% of SI
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= 10 + 
10
2

 = 15%

Note:- When interest is compound Half
yearly.

New Rate = 
10
2

 = 5%

Time = 
3
2

 × 2 = 3 years

Effective Rate% of CI for 3 years
= 15.7625%
Difference in Rate% = (157.7625 – 15)
= 0.7625%
According to the question,
0.7625% of sum = Rs 244

Sum = 
244

0.7625
×100 = Rs 32000

102.(b) Let the principal = 8 units

Amount = 8 × 
27
8

 = 27 units

Principal   :   Amount
8   :   27

8   :   27

2 :   3

3 3

+1 unit

1st year

1st year

1st year

Required Rate% = 
1
2

×100   = 50%

103.(b) Let principal = Rs P

Principal   :   Amount(A )1    : Amount(A )2

P   :   7000    : 10,000

4 years 4 years

Note : Amount will increase in multiple.

P ×
10
7

 = 7000

P = Rs 4900
 Hence required principal = Rs 4900

104.(b) Principal = Rs 250
R1 = 4%, R2 = 8%
Amount after 1st year (igys o"kZ ds ckn

feJ/u) = 250 
4

1+
100

 
    = Rs 260

Amount after IInd year (nwljs o"kZ ds ckn

feJ/u) 260 
8

1+
100

 
   = Rs 280.80

105.(c) Rate of interest 5% = 
1
20

Let Principal = (20)2 = 400 units

400

2020

5%
1

II

5%5%

 I

 Total interest = 41 units   Rs 328
                                1 unit   Rs 8
                         400 units   Rs 3200

 Principal = Rs 3200
106.(b) Rate of deprecation (deh dh nwjh)

= 4% = 
1
25

Year Value at Value at
the begining the end

I 25  24
II 625  576
 625 units   62500
     1 unit    100
 576 units  57600
Present value of motorbike (eksVjlkbfdy

dh orZeku vk;q) = Rs 57600
107.(b) Compound interest – Simple interest

615 – 600 = Rs 15
Simple interest for one year (1 o"kZ dk

lk/kj.k C;kt) = 
600
2

 = Rs 300

 Rate of interest = 
15
300

 ×100

        = 5%
 5% of principal = Rs 300

 Principal = Rs 6000

108.(a) Rate of interest = 5% = 
1
20

400

2020

5%
1

II

5%5%

 I



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 131 ]

THATHAGAT

IN
STITUTE

Let principal = (20)2 = 400 units
  Total compound interest
41 units   Rs 410
1 unit   Rs 10
40 units   Rs 400
  Total simple interest = Rs 400
Alternate/oSdfYid fof/%
Total compound interest for 2 years at
5% p.a (2 o"kZ dk 5 izfr'kr okf"Zkd C;kt dh nj

ls dqy pØo`f¼ C;kt) = 5 + 5 + 
5 × 5
100

Total simple interest = 10%
  10.25%   410
  10%   400

  Simple interest = Rs 400

109.(d) Rate = 12
1
2

% = 
1
8

Let the principal = (8)2 = 64 units

64

88

1

IInd years

1/81/8

 Ist year

1/8

C.I. = (8 + 8 + 1) = 17 units
S.I = (8 + 8) = 16 units
According to the question,
17 units   Rs 510
    1 unit   Rs 30
16 units   30 × 16 = Rs 450
 Simple interest = Rs 480

110.(a) Rate% = 5%, Time = 2 years
Effective Rate% of CI for 2 years (2 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj)

= 5 + 5 + 
5 × 5
100

 = 10.25%

Effective rate% of SI for 3 years (3 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj)
= 2 × 5 = 10
Accroding to the question,
(10.25 – 10)% of sum = Rs 25

Sum = 
25

0.25
 × 100 = Rs 10,000

111.(c) Rate% = 10, Time = 2 years
Effective Rate% of CI for 2 year (2 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj)

= 10 + 10 
10 ×10

100
 = 21%

Effective rate% of SI for 2 year (2 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj) = 2 × 10 =
20%
According to the question,
1% of sum = Rs 300
Sum = Rs 3,00,00

112.(a) Rate% = 10%
Time = 4 years
Effective Rate of CI for 4 years (4 o"kZ ds
fy, pØo`f¼ C;kt dh izHkkoh nj) = 46.41%
Effective Rate% of SI for 4 years (4 o"kZ ds
fy, lk/kj.k C;kt dh izHkkoh nj) = 40%
According to the question,
Required difference (vHkh"V varj)

= 32000 × 
(46.41 – 40)

100
 = Rs 2051.20

113.(b) Principal = Rs 210

Rate%=10% = 
1

10
 = 

Installment1
Principal10





Principal   Installment

10   ×11 11×11

100 121

Note: Installment is same in both cases.
So equate the installment.
uksV% nksuksa fLFkfr;ksa esa fdLr leku gS] blfy, fdLr
dks cjkcj djsA

Principal   Installment

110 121

100 121

210 121

+

According to the question
210 units   Rs 210
1 unit    Rs 1
121 units    1 × 121 = Rs 121
Hence required value of installment
(fdLr dk vHkh"V eku) = Rs 121
Alternate/oSdfYid fof/%

Rate of interest (C;kt dh nwjh) =10% = 
1

10
Each installment for 2 years (2 o"kksaZ dh
izR;sd fdLr)

  
10
11

 × 
(10 +11)

11
 × Installment = P.A.A
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  
10
11

 × 
21
11

 × Installment = 210

  Installment = 121
Method
Rate = 10%

= 
1

10
 = 

b11
a10




  

b10
a(10 +1)

For 2 years

= 
a
b

 × 
(a + b)

b
 × Installment = P.A.A

For 3 years

= 3

a
b

(a2 + b2 + ab) × Installment = P.A

114.(d) Given Amt (fn;k gqvk /u) = Rs 12100

R% = 10% = 
1

10
Time = 2 year

1B

P 100

1/10

C.I
C.I

1/10

1/10

10A 10A

Total amount for 2 year (2 o"kZ dk feJ/u)
= 10 + 10 + 1 + 100 = 121

 121 units   Rs 12100
     1 unit     100
 Principal = 100 unit
                     = 100 × 100 = 10000

115.(d) 540 = 
P × R × 3

100

PR = 18000 ....... (i)

CI = 
2R

P 1+ – 1
100

  
    

376.20 = 
2R

P 1+ – 1
100

  
    

= 
2

2

R 2R
P +

(100) 100
 
 
 

= 
2

2

R 2PR
PR × +

(100) 100
 
 
 

= 18000 2

R
(100) +2

18000
100

= 376.20 = 18 × 
R
10

+ 360

= 376.20 – 360 = 
18R
10

R = 
162
18

 = 9%

From (i) P × R  = 18000
              P × 9 = 18000
                   P  = Rs 2000

116.(a) According to the question,

Amount = 
3R

P 1+
2 ×100

 
  

= 2315.25 = 2000
3R

1+
200

 
  

= 
2315.25

2000
 = 

3R
1+

200
 
  

= 
231525
200000

 = 
3R

1+
200

 
  

= 
9261
8000

 = 
3R

1+
200

 
    = 

321
20
 
    =

3R
1+

200
 
  

= 1 + 
R

200
 = 

21
20

 = R = 10%

117.(a) According to the question,

Amount = 
2xtR

1+
2 ×100

 
  

  68921 = 64000
2xt5

1+
2 ×100

 
  


68921
64000

 = 
2xt5

1+
40

 
  


341

40
 
    = 

2xt41
40
 
  

 2t = 3  t = 
3
2
 t = 1

1
2

 years

118.(a) 5% = 
1
20

Amount         Installment

    20        =          21

    400      =          441

    Sum          Installment
     420                 441
     400                 441

Make
installment
same

×21 ×21202202

     820 441

     32,800 Ans      17,640

×40×40

    Ist year

    IInd year

    Ist year
    IInd year
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119.(a)

 5 year

S 2S 4S 8S

 5 year  5 year

 2 times  2 times  2 times

Sum

S 8S        8 times

In 15 years   (5 + 5 + 5)

120.(b) Let the principla (ewy/u) = Rs 100
According to the question

R = 10% = 
1

10

C.I.

100 (Principal) 

1
10

10

1
10

10
1

10 1

S.I.

Second year CI

2nd year CI interest = 11 units
11 units = 132
1 unit    = 12
100 units = 12 × 100 = 1200
 Principal = Rs 1200

121.(b) Acording to the question,
Principal = Rs S
Rate = 2r% p.a
Time = 3 years

 A = 
TR

P 1+
100

 
  

 = A =  
32r

S 1+
100

 
  

A = 
3r

S 1+
50

 
  

122.(a) Let the principal (ewy/u) = Rs 100
According to the question,

Rate = 10% = 
1

10

100
Principal

1/10

10 10

1/
10

1/10

1
Interest (C;kt) = 21
Principal (ewy/u) = 100
Amount (feJ/u) = 21 + 100 = 121
121 units ...............2420

1 unit .....................
2420
121

100 units ........ 
2420
121

 × 100 = 2, 000

 Principal (ewy/u) = Rs 2000
123.(c) For 2 years

Difference between C.I and S.I
(lk/kj.k rFkk pØo`f¼ C;kt dk varj)

  C.I – S.I = P 
2R

100
 
  

 63 = P × 
25

100
 
  

 63 × 20 × 20 = P
  Principal (ewy/u) = Rs 25200

124.(b) With smart approach
 Principal Amt (ewy/u) = Rs 25000
 Time = 2 years
 R1 = 4%, R2 = 5% Annually

 4% = 
1
25

, 5% = 
1
20

P.A           Amount

25                 26

20                 21

500               546

25000           27300

Interest

+1

Interest

+1

×50 ×50
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So amount (feJ/u) will be Rs 27300
after 2 years

125.(c) A = P 1
nR

100
 

  

1348.32 = 1200 1
nR

100
 

  

134832
120000

 = 1
2R

100
 

  

2809
2500

= 1
2R

100
 

  

53
50

 = 1 + 
R

100
 = R = 6%

Or Choose with options

1200

72 72

4.32

6% 6%

6%

A = Rs 1348.32
Hence "C"

126.(a) P. A. = Rs 12000
 Interest being compounded quarterly
effective R% (pØo`f¼ C;kt frekgh la;ksftr

gksrh gS) = 
20
4

 = 5%

 Time = 
20
4

 = 
3
4

× 4 = 3 years



5%
5%

72

5%

600 600 600
30305%

5%

1.5
305%

  Total CI will be = Rs 1891.50

127.(c) A = P 
31

1+
100

 
  

1331
1000

 = 
3R

1+
1000

 
  

311
10
 
    = 

3R
1+

1000
 
  

11
10

–1 = 
R

100
 = 

R
100

 = 
1

10
Rate (nj) = 10%
Alternate/ oSdfYid fof/%

3

A

1331
 :  3

P

1000

11           10

+1 Interest

So rate = 
1

10
 × 100 = 10%

128.(b) According to the question
(iz'ukuqlkj)]
P A T

1 2 2

1 4 4 year

×2

129.(b) Let Principal = 1000, r =
10y, y = 3y

10 = 
1

10
1000

1
101

10

1
10

100 100 100
10
10
1

10

Amount =
Interest

+1000
Principal

300 + 30 + 1

 1331 unit  5324

1 unit 
5324
1331

1000 unit  
5324
1331

×1000

= 4000

130.(b) SI  = 
Prt
100
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 350 = 
P × 4 × 2

100
  P = 4375

 4% = 
1
25

4375

175 175

7

1
25

1
25

1
25

C.I = 175 + 175 + 7 = 357
Difference = 357 – 350 = Rs 7

131.(a) So for next 8 years it again becomes 3
times means 3 × 3 times = 9 times
= 16 years
(blfy, vxys 8 o"kZ ds fy, ;g iqu% 3 xquk gks
tk,xk] eryc 3 × 3 xquk)

132.(c) In one year there are '4' quaterly month
(,d o"kZ esa 4 pkSFkkbZ eghus gksrs gS)
For 9 months  – 3 quarter

Change rate = 
8
4

 = 2%

2% = 
1
50

5000

100 100
100

2

0.04

2

2

1
50

1
501

50

Total
C.I

Total CI = 300 + 6.04
= Rs 306.04


